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f(t) = L{F()}

F(s) = AF (D}

f(t) = L{F(S)}

F(s) = AT (D}
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e® sin(bt)
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4. t*, p>-1
6.t 2, n=12
8. cos(at)

10. x cos(at)

12. cos(at + b)
14. cosh(at)

16. e* cos(bt)
18. e* cosh(bt)
20. f(ct)

22. d(t-c)

24. e*f(t)

26. ]f (t-7)g(r) dr
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uaneIsinlngazdeannde

1. 3w maRaenIly y = y. + y, Y0aun1sliseyusaaluil Inglidosmenduussdnsves ¢,

1.1 (5 AgWUU) v + 9y + 14y = T + e~ + cos «

1.2 (5 AagUU) i’ + 4y = e ¥ cos 2x + Txsin 2z



2. (5 AzLUY) WINaLRaeIlUYveIduns 2%y + 522y — 2ay’ — 6y = 0



3. (4 AzUL) 2999LeNg U (Ordinary Points) Yasaun1slieunusaaluil mnldiaaeng u
Tanoudn "laid"

s

AN RUIUS L8N

y'—ay +2y=0

(2 —4)y" +y=0

222y + Tx(x + 1)y —3y =0

(2* =4z +3)y" +(x -2y —y =0




InglilgunszAeRIWaY (z — 20)*




5. (4 Aziuw) WlEdsun1sulasarlaw (Laplace Transform) liew) L{e 25}

6. (6 AzLUL) AWlTR1519N15UUasaUa% (Laplace Transform) e L{f(t)} vosilendu f(¢)
molull
6.1 f(t) =t(et +e7t)?

6.2 f(t) =t* — e*sin 3t + cos (t + 4)



7. (9 Azuu) AmnsilasarUaeuniu (Inverse Laplace Transform) weeilsAtuainnual

soluil
—25+6
3s + 2
7.2 G(s) = 17
7 6_68
SH) = 5355

8. (3 Aazkuw) lTdrinuIn1s (Convolution) tennisulasarvarsunidu (nverse Laplace

Transform) Ya9anTu .

(s+1)(s2+4)

H(s) =

Taglsidosduinsnaanun



9. (12 Azhuw) TN UaIEIUa 9N IHAIRAEUBIELNITTIRYIUS

y"(t) + 3y (1) + 2y(t) = ua(t), y(0) =0, y'(0) =1



10. (7 azuuw) aslimsudasandanaiiiovnainasyesssuuaunaideyiug
zi(t) + 22 (t) + Baa(t) =0
2y (t) — b (t) + 229(t) = 0
10 2,(0) = 0, 2 (0) = 0, 2(0) = 1

Inglvimualany z,(t)




